A FN6HE KB ST H AR AR S (T~9 ) FE 7 ARDEM B8 A MEM  FEE9 A MIEH
KB HLHEE Kith kit AR KL P [ ARAKSE K [ROBEB E BORS 2 fi [ R S T IRBORIN 0 A< oA | BT A
& |HH Sy ¥ | BT [ e (/k@) OKJ5) (Hg/k) . . (“/MA) éfn/k&) éﬁn/wﬁ) én‘@/k’rﬁ) (fn/Mi)
; = Tl
1 [ ﬁ 4 1mltP 10024 F [60 76 253 1 0 6 0 0 0 0
B - - 135 0 0 0 0 0 0 0
m E E 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
H2 [ RiGE o E¥mtisnsenoy<a.s 2.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- - 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- - = = 0.0003 T4 _[0.0003Tw _[0.0003 K1 |- = - - R
3| BRIV LR REDEY mg/1]0.003LL F 0.00034#  [0.00034%  [0.00034%  [0.00034i% |- 0.00037# 100003 [0.00035#  0.00035k3  [0.0003%4ik
- - 0.00035Ki#  |0.000344H |- - - - - -
Hea KL DL EY) mg/1]0.00054F |- - - - 0.0000541% |- - - - -
- - - 0.000054i# |- - - - - -
- R N N A - — I — [0.000KTH  [0.001A% [0-000KTG |- R R R I )
5 [V ROEOE Y o |me/1{0.0181°F 0.001A#  |0.001A%  [0.001AH5  [0.0014 |- 0.001%#  [0.00147  0.00145  0.001R7H  0.001 i
4B - - 0.0014%#  |0.00U4 |- - - - - -
- & = = 0.001A3m _ [0-00 A [0-00 RTm |- - - - -
6 [k OO E Y mg/1]0.01L4 F 0.001A#  0.001 Al 0A0017QT<~;§ 0.0017»Eg§ - 0.001A4#  [0.00144  0.00144  0.001A  0.001 A
- - 0.0014i#  [0.0014 |- - - - - -
- = = 0.001 0.0017‘;% 0.00 KM |- N N N -
7 e R NEOILEY mg/1{0.01LL F 0.001 0.001 0.001 0.001 @g - 0.001K%  [0.001Km  [0.001Km  [0.001Kw  [0.00140H
- - 0.001 0.001 £ - - - - - -
: = - 000 o005k o0 - - - -
I8 (A flize b e mg/1[0.02LLF 0.002K%%  0.0024  [0.002K  |o.0024%0 |- 0.002K7%  [0.002K%  [0.0024K%  [0.0024K%  [0.0024K7
- - 0.00244#  [0.0024H |- - - - - -
A | HAHERRE S R mg/1[0.04LLF - - - - ~ |o.ooaki |- - - - -
- - - 0.004H |- - - - - -
. — — — = — — — — — —
10| T A A R O L T 1% mg/1]0.01LLF - - - - - 0.00145  |0.0014i%  [0.00155  0.001K5  [0.00157
LR R EEE | e[ | - - . 089 - - - - -
12| 7y B ROZOILAH mg/1[0.884F - - - - 0.10 - - - - -
- - - 0.08K4 |- - - - - -
B3| R R OZOLAY }i:; mg/1|1.0L4 F - - - . (REST R - - - -
_ _ _ Lk e _ _ _ _ _
- - N 000027 |0.0002A%% _[0.0002R7 |- - - - -
F14| AR SR mg/1]0.002LL 0.00025  [0.00024% |- - - 0.000247# 0.0002:%  [0.00025#  0.00025K4  [0.000247%
H15|1, 4— D me/lo.oseiF | - - - 0005kl |- - - - -
o ———— o
o - - 0.004A] v . i - - - - -
16| A, hFrR) —1, 2V /unxFLyv 7'55 mg/1]0.04L4L 0.00444#  10.004K7 [~ - k - 0.00444#  [0.00444%  [0.004A4#  [0.004AK7  |0.004A:7i5
: - e - = = 0.002K7%  |0.002K0m  [0.002HKm |- N N - -
H17|\vrmury 1t mg/1]0.02LLF 0.0024%#  10.002K7 |- - - 0.0024%  [0.002A%  [0.0025  [0.0025K1  0.0025K 1
— 2 = - 0.00TAw  |0.00Km  [0.001AKwm |- - - - -
HA8|F T rumFL gy |me/1)0.0184TF 0.0014#  [0.00L445 |- - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014
- 7 - = - 0.00LK  |0.00km  [0.000Km |- = = = =
H19|M o FL mg/1{0.01LL F 0.001K4  |0.00L4 |- - - 0.001K7  [0.001K  [0.001K  [0.001K  [0.0014K0H
— E = 0.001m  [0-001  [0.00140m |- - - - -
Hoo| B mg/1]0.01LLF 0.0014#  [0.00L45 |- - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014
Fo1 (MR mg/1|0.6LL F - - - - - 0.09 0.09 0.09 0.08 0.08
F22|/ank mg/1]0.02LL F - - - - - 0.002504  |o.0o2kim  [o.002kim  |0.0025ki  o.0025i
E = E 0.019 0.007 E E E E =
B Pa=inbi VI UN mg/1]0.06 2L F - - - - - 0.010 0.010 0.012 0.014 0.009
24|y ok mg/1]0.03LL T - - - - - 0.00345%  0.005 0.004 0.0035%  [0.001
S = = = 0.0 T 0.0 = = - - -
E | DAt A== & % f’, mg/1{0.1LLF - - - - - 0.01 0.01 0.01 0.01 0.01
= _ _ _ _ _ e e e s o
Fo6| RAEE E'% mg/1{0.01L4F - - - - - 0.004 0.004 0.004 0.004 0.005
; E = E 0.03 0.02 E E E E =
H2TIRR N A ZZ mg/10.1LLF - - - - - 0.03 0.03 0.03 0.04 0.02
FL28| N7 ok mg/1]0.03LLF - - - - - 0.0035i  |o.00ski  [0.003iH  |0.0035ki  o.0035%i
E = E 0.006 0.005 E E E E =
pros] il = dei=g s mg/1]0.03L4 F - - - - - 0.009 0.009 0.010 0.011 0.008
N E = E 0.000km  |0.000KTm |- R R R R
JE30| 7 mERL L mg/1]0.092L - - - - - 0.009A#  [0.009A4%#  [0.0094#  [0.009A7  |0.009A:i5
31| AT L FER m/l|o.0selF |- - - - - 0.00853  [0.0085i  [o.008i  |0.008%  |0.0085k
- — (IR ST NS S (OVF S/ R - - - -
JL32(Migh K O EDILE Y mg/1[1.0LL T 0. 153 0. 14 0.1 0. 14 - 0. 151 0.1 0. 17 0. 147 0. 1A%
— — - XPERD — — — — —
33| TNR=T LR OZFDILEY) 4 mg/1]0.2LLF 0.04 0.04 0‘04 0.05 - 0.02 0.03 0.02 0.02 0.02
B - - 0.05 0.02 - - - - - -
- B E = 0.15 0.030m  [0.050m |- R R R R
34| K NEDILEY mg/1[0.30LF 0.04 0.07 8.82 8.8?&#& - 0,034 0,034 0,034 0,034 00344
- - 03 il — - - - - -
- - 0. AT 0. A 0. A - - = = =
JL35|80 K N ZF DAY mg/1|1.0LLF 0. 1A 0. 1Al 0. 1Al 0. 1A - 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A
- - 8 1 A 0.;31:‘]%( *0 - - - - -
E = 7 12. 0.5 E E E E E
JE36(F NI LK OFDI/LAY iﬁ mg/1[200L4 11.1 8.2 11.2 18.2 - 17.2 17.3 17.3 17.4 17.1
- - 8.1 10. - - - - - -
- X - E E 0.005 0.005K7% _ [0-006Rm |- = = = =
37|~ T B DAY £ |mg/1]0.05LL F 0.0054  [0.020 88(1) il gggaa*mr;g - 0.0055  |0.0055#  [0.0055%4  0.0055K5  [0.00557
s z 0skiE |- z z z z b
E = 6.7 10.6 95 15.3 2.8 3.1 1.7 1.7
F38| Ak A A mg/1|120084 F 6.7 2.4 7.8 13.1 16.0 17.0 15.6 16.7 16.3 17.0
- - 3.5 10.6 14.9 15.3 13.5 15.3 14.9 14.9
E E 55 54 39 E E E E E
PR Ye | i Ay ANEE SN 3¢ i) g mg/1{300L4 F 53 63 58 58 - 47 47 19 50 12
- - 43 48 - - - - - -
E = 309 120 93 E E E
JLAO| R IRE mg/1|500LL F 118 107 E1{50 é?f - 114 106 106 109 103
- - : - z - - - -




JEAT|FEA A R iEPEA] mg/110.28L F - - - 0,025
- - 0.02i0# |-
N 0.000001 7% 0.00000 LA % - -
4oyt A mg/1{0.00001L4F  [0.000001 0.000002 - -
0.000002 0.000001 - - -
N 0. 710.00000 1w = =
HAB|2— AF A VRN A —)L mg/1]0.00001 24 F  [0.000001#0.000001 - - i
0 : 0.000001 i - - o 000001 i 0 00000143]0
FeAA| FEAA > FEEPER] mg/110.02L4F - - - ~ |o.o025ki - -
- - 0.00244 |- - -
457 =/ — V8 mg/1{0.005L4F - - - 0.00054 - -
- - 0.0005A |- — — — — —
E = = 08 T.0 0.7 0.7 0.7
HA6| G (DA RFE mg/1{3LLF - - - - 0.8 0.8 0.8 0.8 0.8
- - - - 0.8 0.8 0.8 0.7 0.8
. 7. 7.40% 7.65 7.16 7.1 7.95 7.41
J47(pHAE 5.8~8.6 9.21 8.11 7. 7.45% 7.89 7.60 7.7 8.35 7.63
6.96 7.39% 7.88 7.46 7.5 8.24 7.46
] - - LS LA LT L% LS L% L%
48|k ) R TRV - B CX AT AU Cx [X [X
% - - L Eagsele  |HEapl [ ) B L%
- T i - ) i L T A I T A DR X LS T T,
JA9| A ¥ BTN e B R e B B L HERL B LS B B
i - B T D TNV Y [ B B
BTN = = 0.5 0.5 A+ BERG] 0.54 ; 0 0.54
H50| B |5LLF 2.7 4.7 0.5 0.5k i 0.5k 0 0.
- - 0.5 0.5 A% 5 0.54 0 0.f
R = 0.2R 0.2k PERG 0.2 0. 0.2
H51| W BE 2L F 2.0 2.3 0.2 0,248 1 0.2 0. 0.
- 0.2 0. 24+ 0.2K] 0.2 0.2

3T [T fiE




A FN6HE KB PR AR s T H R A R (T~9 ) LB 7 HRPERE B 8 H MR B9 H HEfE
AP PR AT R E T Kt it it AAKH KL P [ ARAKSE K [ROBEB E BORS 2 fi [ R S T IRBORIN 0 A< oA | BT A
& |HH A EREA T OKIE) OKJ5) Uik) Gaate)  [Gekke)  |Gakk)  |GekE) | Gokir)
B1 |7 F e KOFOILEY mg/1[0.02LLF - - - - 0.002K% |- - - - -
- - - 0.002H |~ - - - - -
H2 U7y K OZEDILEY mg/1{0.002L4 T (I )| - - - - 0.0002:4 [~ - - - -
- - - 00002 - - - - -
H3 |=vr v R OFolbEaw mg/1{0.02LL F - - - - 0.002:4%1 |- - - - -
- - - 0.002H |~ - - - - -
H4 Ak
R = = 0.0004°K7# 0.0004AKm  [0.0004Km |- N N N -
H5 |1, 2—Y/muxfy mg/1]0.004LL F 0.0004A4#  10.0004A# [~ - - 0.000444#  [0.000474#  [0.000474#  [0.00044#  [0.0004 A4
H6 [Hikx
H7 [HIBR
= = [ZE S (VS (N E S - - - -
H8 |hMr=y mg/1)0.4LLF 0.04A 0,044l - - - 0.04A1 0.04A7 0.04A7 0.04A7 0.04Ai5
A9 | 720 (2—=FL~FiL) mg/lo.oselF | - - - 0008k |- - - - -
TEHL TWRWTZD TR EA TR
H 10| HibE i me mg/1{0.6 2L F
H11[HIBR
TEHLTWRWTZD TR EA TR
H12| “fetEse mg/1]0.624
H13|>smarer=rin me/1[0.0181 F |- - - - 0001k |- - - - -
H14lfakres—n mg/1[0.02LL F (B &, - - - - 0.003 - - - - -
H 15[ 5 st 1L F - - - - - : - - - -
E = E 0.9% 0.7% 0.5 0.6 0.2 0.2 0.6
H16|7&HiEH mg/I|1LLF - - - 0.9% 0.7% 0.3 0.5 0.1 0.1 0.6
- - - 0.9% 0.7% 0.3 0.6 0.4 0.1 0.7
— E = 55 54 39 = = = = =
ERNY VAN Sy FN- (73 mg/1{10~100 53 63 58 58 - 47 47 49 50 42
- - 43 48 - - - - - -
- E = 0.005 0.00 KT [0-000RTm |- - - - -
H18[~> o B OEDILA mg/1[0.01LLF 0.004 0.020 0.004 0.0014 |- 0.001 0.001 0.002 0.001 0.001
- - 0.015 0.0014KH |- - - - - -
. - E = .8 5.3 T8 E = = = =
B 19|z s mg/1[20LLF 0.0 1.8 - - - 0.9 1.8 3.5 0.9 3.5
= = 0.03K% 0.034Tm __ [0-030m |- - - - -
H20[1, 1, 1—K)Zupxzx mg/1]0.3LLF 0.03Aii 0.03A4i - - - 0.03 i 0.03 A 0.03Aii 0.03Aii 0.03 A1
A21|AF L —t—FFAx—F A (MTBE) |mg/l|0.020F |- - - - 0.002%0% |- - - - -
- - - 0.002H |- - - - - -
= = 6.0 .3 T6 E = = = =
H 22|~ T g L i mg/1[3LA T 5.7 8.8 5.1 0.6 - 1.3 0.9 1.3 0.6 0.9
- - 8.3 2.8 - - - - - -
E = 3 1 T E E E E =
H 23| B4R EE (TON) 3LLF 3 3 - - - 1 1 1 1 1
= = 309 20 93 E = = = =
H 24|78 5724 mg/1{30~200 118 107 150 127 - 114 106 106 109 103
- - 85 84 - - - - - -
- - - - 2.T% 0. R+ |0 LRTG* 0.1 0. 1A 0. 1A 0. 1A 00K |
H25(W I DY 2.0 2.3 1.6% 0. 1Ai* 0. 1A 0.1 0.1 0.1 0. 1A (BEST}
- - 2.2% 0. Uk 0. UK+ [0. kil 0. LR 0. LK 0. UK 0. U
= = 7.30% 7.02% 7.40% 7.65 7.16 7.14 7.95 7.41
H 26| pH{i 7.5FR 5 9.21 8.11 7.64% 7.15% 7.45% 7.89 7.60 7.71 8.35 7.63
- - 7.21% 6.96% 7.39% 7.88 7.46 7.59 8.24 7.46
E = 1.2 14 =12 E E E E =
H27|E &t (7T Ha%) 0~-1fHE |10 0.1 - - - 0.5 -0.8 -0.6 0.1 -0.7
N P o [ 1mirfi200021 [ ’ 500 1 3 R ’ - - B
F 28] K A0 ki T N S i i ! : 1 ' !
N - = = 0.0 1R 0.01 K1 0.0 KT - - - - =
H29(1, 1—Y /s mg/1{0.1LLF 0.0 1A 0.0 1Al - - - 0.0 0.01A 0.01A 0.01AH 0.01 A5
E = 0.31 0.02 0.01 E E E E E
H30[7 A= AR OF DAY mg/1{0. 184 F 0.04 0.04 0.04 0.05 - 0.02 0.03 0.02 0.02 0.02
- - 0.05 0.02 - - - - - -
H31 NVTIVARE B AVEY R (PFOS) mg/1|0:0000550F | - - - - - - - - -
B OWVTVAaA 8 g (PROA) S| () . . . . . . . . . ,
w13 H FPEAIfE
Z OB H Kt i Brit FAH VKM O [k | Rt a ] Gsep ] B e kn] /<o A | Bgans A
HH A OKJE) OKJ5) UiK) Giakke)  [Gakie) | Gaakte) | Gakke) | Gakir)
E = 24.4% 24.3% 75.0% 24.7 33.0 26.6 26.8 29.4
KR C 28.0 30.5 27.3% 27.3% 27.8% 25.0 25.0 26.0 26.0 29.0
- - 26.3% 26.3% 26.3% 25.9 33.3 29.5 31.3 30.9
E E 30.0 28.0 30.0 E E E E E
T IV mg/1 32.0 41.0 38.0 33.0 - 33.0 37.0 37.0 41.0 35.0
- - 31.0 26.0 - - - - - -
- E = 2.0 6.0 7.0 E E E E E
KAWAIE mg/1 0.0 2.0 1.0 6.0 - 1.0 2.0 1.0 1.0 4.0
- - 2.0 2.0 - - - - - -
VONAS S VNASN (10LH) - - By |- - - - - - -

A R AE



